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Practice Test |
1.2 CeHio+ 14 02> {2, €Oz + [ H,0
a} If1do this reaction with 35 grams of CeHo and 45 grams of oxygen, how manyggrams of carbon dioxidewill
be formed?
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¢} If 35 grams of carbon dioxide are actﬁally formed from the reaction in part‘{a), what is the percent yield of
this reaction?
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2. Ethylene {C:Ha) burns in oxygen to form carbon dioxide and water vapor.

a) Write the balanced chemical equation for this reaction below.
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b} How many liters of water can be formed if 1.25 liters of ethylene are consumed in this reaction?
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3. a) Balance the following equation:
_ Pb(SOa)2 + 4 LiINOs > _ PH(NOa)a+ 4 LSO,

b) How many moles of lithium nitrate will be needed to make 40 moles of lithium sulfate, assuming that you
have an adequate amount of lead {IV) suifate to do the reaction?
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¢} How many moles of lead{IV) nitrate are produced if 25 moles of lithium sulfate are produced?
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d} How many moles of lithium nitrate are needed to react completely with 5.9 moles of lead(IV} sulfate?
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4. a) Write the balanced equation for the reaction of acetic acid with aluminum hydroxide to form water and *@,
a!ummum ‘acetate:

3CaHs Okl + AL (DH)3 ——> AL, Ho0n)s + B Hao

Using the equation from part (a}, determine thegfiass of allimin etate’that can be made if 1 do this
reaction with 125 grams of acetic acid and 275 grams of alummum hydromde
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5. a) Balance this equatlon and g’t

ate \‘whsch of the six types of reaction is taking place:

Mg+  oUHNO3 > Mg(NOsh+ __ H,
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b} If | start this reaction with 40 grams of magnesium and an excess cf nitric acid, how ma.w;@?&”&{é‘"’d?ﬁ%}ﬁ?&g@
gas will | produce?
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c} If1.7 grams of hydrogen% actually produced, was my percent yield of hydrogen?
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Practice Test 2

6. a) Balance this equation and state what type of reaction is taking place:
A\rm by halaoced!
NaHCO; = NaOH + COZ
Type of reaction: De Q@Vh@éﬂ@ EXAYS
b) If 25 grams of carbon dioxide gas is produced in this reaction, how many grams of sodium hydroxide should
be produced?
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¢} I 50 grams of sodium hydroxide are actually produced what was my percent yield?
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7. Calcium carbonate decompaoses at high temperatures to form carbon dioxide and calcium oxide: teasonable,
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al Write the balanced chemical equation for this reaction below.
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b) How ma|1\§”§f5wr;;§;gf-éélc‘ium ;arbong}gMiII | need to form 3.45 liters of carbon dioxide?




o

8. Using the following equation:

2 NaOH + H,S0. = 2 H,0 + Na S0,

How Enanygfa!nsofsodium sulfatewill be formed if you start with 200 grams of sodium hydroxide and you have
an excess bf suffuric acid?
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9. Chlorine is used by textile manufacturers to bleach cloth. Excess chlorine is destroyed by its reaction with sodium
thiosulfate, Na,S$:0s:

Naz5:03aq) + 4Clyg + SHQO{aq; = 2NaHSO0uag + 8HC g

a. How manyfnoles of Na;S;03)are needed to react with 0.12mol of Cl,?
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¢.  How manyéoies oszO lare required for the reaction of 0.12mol of Ch,?
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10. The incandescent white of a fireworks display is caused by the reaction of phosphorous with 0; to give P4O1o.

a. Write the balanced chemical equation for the reaction.
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b. How manygrams of O;yre needed to combine with 6.85g of P?
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c.  How manygFams of Ps0jpcan be made from 8,008 of 0,7
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d. How manygfams of P iare needed to make 7.46g P4O19?
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